EMCF32 — Math 1432, 13209

The answer sheet for this assignment can be found by logging into CourseWare at
http://www.casa.uh.edu, selecting Math 1432(13209), clicking on the EMCF tab at the
top of the page, and selecting EMCF32.
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e (Divergence Theorem): Zan diverges if a, does not converge to 0 as n — o.
n=1

o (Integral Test): If a, = f(n) and f is eventually nonincreasing, then
> a, converges if and only if [ f(x)dx<oo.
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e (Comparison Test): Suppose 0<a, <b, forn sufficiently large.

If an converges then Zan converges.
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e (Limit Comparison Test): Suppose 0<a,, 0<b, forn sufficiently large.
If a, behaves like b, (inthe limitasn — o),

then an converges if and only if Zan converges.
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f. None of these.
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a. Converges
b. Diverges
c. None of these.
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a. Converges
b. Diverges
c. None of these.
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a. Converges
b. Diverges
c. None of these.
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a. Converges
b. Diverges
c. None of these.
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a. Converges

b. Diverges
c. None of these.
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a. Converges

b. Diverges
c. None of these.
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a. Converges
b. Diverges
c. None of these.
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a. Converges
b. Diverges
c. None of these.
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a. Converges
b. Diverges
c. None of these.
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b. Diverges

c. None of these.
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a. Converges

b. Diverges

c. None of these.
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a. Converges

b. Diverges

c. None of these.
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a. Converges

b. Diverges
c. None of these.
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a. Converges
b. Diverges
c. None of these.
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a. Converges
b. Diverges
c. None of these.
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a. Converges
b. Diverges
c. None of these.
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a. Converges
b. Diverges
c. None of these.
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a. Converges
b. Diverges

c. None of these.



